MA103 
Lesson 47 Systems of Difference Equations I
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In-Class Problems
Your Uncle Fred is the Vice President for the local district of Coca-Cola Bottling Company.  He once told you that each year 6% of the market switches to Pepsi (a truly inferior product).  However, by using Tiger Woods as their spokesperson, Coke can attract 3500 new customers each year.  
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His spies from within the Pepsi organization tell you that each year 9% of the Pepsi market switches to Coke and they believe that with David Hasselhoff they will attract 4000 new customers each year.  Suppose that initially there are 150,000 Coke drinkers and 15,000 Pepsi drinkers.  
· Model the system above using difference equations  (Don’t forget to define your variables, state your domain, list assumptions, state difference equations, and initial conditions.)
· What happens to the customer base of each company in the short term?  Long term?
· What if the addition of “star power” doesn’t bring in any new customers? 









